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1) Requirements          
Simple Random Sample 
(SRS)    &       Large 
Enough 

n>30 or population 
normal 

n1,n2 > 30    or 
population normal

2) Summary Statistics n = sample size         x 
= number of successes

x ̅= sample mean  
s=sample standard 
deviation                    
n= sample size

3) Point Estimate: Our 
best guess of population 
parameter based on 
sample 

4) Critical value        The 
Z-score or                T-
Score that will 
correspond to the 
confidence level, CL
5) Margin of Error       
Maximum likely 
difference between 
Population parameter 
and sample statistic.

 2PropZinterval 2SampTinterval

6) Confidence interval

7) Write Sentence:    We 
are CL confident that 
the true  …....       is 
between LB and UB

population proportion difference in the 
population proportions

population mean difference in 
population means
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𝑛 =
𝑧𝛼 ଶ⁄

ଶ  𝑝̂𝑞ො

𝐸ଶ

𝑛 =
𝑧𝛼 2⁄

2 ⋅  0.25

𝐸ଶ

𝑛 =
𝑧𝛼 2⁄ ⋅ 𝑠

𝐸

ଶ


